EARAROBEEIERT — 2 N— IBISH —F

2014128148 (H) SHEFR#4H

Bl - ~r v 0—X g1 5%k (@R 4% (50 & BT
[A&4£] 1 7 65,000,000 § 2 7% :26,000,000 @ . 33 :16,000,000 @ 4 7% :9,800,000 @ 5 j& :6,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S N — = = . _ — g ;
118l ¥amr>773 B2 gﬁ% # 1.(3_4).4 1312 | 34.0| 97.2 | 5 (4_628) E%§%+ ES5)
RFA—TALNT b BA— NI AX Y)Y yaitie)
RIS TON 2 | EPR 1:34.5 9-10 34.3| 9.2 | 2 466 |BHEZ (RR)
o1 vy VI-F% 54.0 (172 ) | EBALE
RL:xLThHANAN B:TILEY BRI
4 2 | Hlgess 1:34.6 9-8 34.5| 952 | 4 450 | BEAFIA (i)
3N 4 J3a/74 54.0 (1/2) -2) () BEHFBS
S ZRFAd—- K B:Ea-TavVrT BB
. . 4t 2 | HAILEAE 1:34.7 3-4 35.0| 94.2 | 12 | 414 |HAEE (BR)
4 18 L—=2IJ7RTLZR 54.0 (3/4) 4 | ) O-LwL-vr7
R:TRIAYL—> BTE-LARHYZ RS
= 4 2 | ERH 1:34.7 4-5 34.9] 942 | 11 450 | EEB— (RR)
sy 3| 7IVIA LT —F 54.0 (7€) Gy |ATRIvTL—vT
L:xrivH /v BFARILET Y P e
o= 3 BEHZ :35. = . . ME#_ (E#
N : AESERPFE T % 2 54.04 1(355)2 1-1 36.0 89.4 | 13 (4_426) e
L:T77INTTT BTUENTYT KT 7 — L
¢, = o2 | K2 1:35.3 9-8 35.2| 87.9 | 7 420 | BHEEY (BR)
71215\ VAT 4 F 54.0 (1/2) o) | B FvoubTr—L
R:Z2ZyYzl B:EALRNLTF—F IR
o4 f o2 | AEBZ 1:35.4 16-16 | 34.8| 86.7 | 1 492 | SHE— (RR)
8|11 54.0 (7€) (-g) | =EBE
LNn—ErTv— B ATy Y ST -4
2 s 2 | ENMEME 1:35.5 16-16 34.8| 8.7 | 8 444 | BEREIME (FEH)
] 8 F—-3IT7VUX 54.0 (1/2) (+4) HinEE
R:ATA MR BiKy FFAFI— A pnee
5 . 4 2 | JIIEREHE 1:35.6 5-6 35.6| 85.1 | 3 446 | HAKERR (BER)
1013 2~ h>¥riv> 54.0 (3/4) Lo | B) HEL-2K-2
L:N—=Y754 B:a—hrT77 b BT 7 —L4
P P/ i 2 | BRR 1:35.6 15-12 | 35.2| 84.7 | 15 | 470 |HMEHEZR (EXR)
1117 |14| ¥4 7708 540 ) oy | KEE=
A TAT v — BE4A47T Tl P NN
3 . i 2 | BWEEETT 1:35.9 8-6 35.9| 82.2 | 14 | 424 |HEZ (EH)
EHQ NRXF v > 54.0 (1 3/4) o) |FrL-v>iae
R:8=/FLLy b B:wIHIN—L HET7—L
TSN B2 | W Eafy? 1:36.0 12-10 [35.8| 81.1 | 6 496 | KIFEA (ER)
13/8[17| ¥/~ 77¥T A (7E) o | W 5%
R:w>Ny&rh7r B:¥—FybLFg FHE%ES
3 s 2 | AKX 1:36.3 7-15 35.8| 78.1 | 9 438 | EARARE (ER)
14/ 510 J—ILRZIVE 54.0 @) (+4) JTU:f_fIEJ
R:wyDEdyr B:T75E— 21405
B S f 2 | BEEMRZ 1:36.6 14-12 | 36.3| 75.7 | 18 | 460 |=tEEEZ (FEF)
15159 | 7RA— LN = 54.0 (1 3/4) (o) |ExAZEZ
AR N4 =7 BT —INX AL
4 2 | BEREMAETT 1:36.8 5-2 37.5| 75.3 | 16 | 450 |MREBFIZ (=)
161|277k 0 (11/2) (-6) | LARE]
X7 T— R VXTI T—F BANRIpIEE— RS
S 4 2 | BN 1:37.0 16-16 36.3| 71.7 | 10 482 | BRER (EH)
17 6 fh=—t2Z—-7 54.0 (1 1/4) (+12) E“légﬁ
LTIVFNTL2 BS54 FEy b kit
. ERHN :37. — . . #ILEA (FEX)
1808 7| 7HVUT 4 K [B] o2 50 ! (327)3 a2 et A (4_722) IR
LHIINIF— BAIFITHY BRER 4Um
@ 21 L
£y 47.2-35.2
NaO>24 L | 12.5-11.0-11.5-12.2-12.0-11.4-11.5-12.3
® I—F—&EBIERL
13—7-
23—7F—
G=7"= (x5,7)-18,3(2,13)10,12(4,11,15)17,16,9,14(8,6,1)
Mal=5r= 5(7,2)-18,3(13,12) (4,15) (11,17) (9,16,14)10(6,8,1)
[ RN
B Oj 16 980H 794K 11-16 780 & 6-8 1,130 &R 4-11-16 3,530
BB 16 260M 4-16 990M B E 11-16 2,200 EE 16-11-4 22,780
1 170 4-11 570M B H 16-11 5,110M
4 230M

ABICOVWTRDTEEERROODE. TR LIV,




